The analysis of Zpole -> b bbar
try to separate b and bbar

Yongfeng Zhu



Zpole == BBbar
B(Bbar) -> C(Cbar) -> S(Sbar)
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the costheta distribution of K+
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Most data from Z pole factory are well described by two jets of hadrons. Most of beauty and charm
hadrons come from energetic jets, and beauty & anti-beauty hadrons mostly appear on opposite sites and
somewhat also for charm hadrons.

The branching ratio of Z to b bbar is about 15%.

Since the b quark is the lighter element of the third-generation quark doublet, the decays of b-flavored
hadrons ovvur via generation-changing processes.

The dominant decay mode of a b quark is b -> cW*-, where the virtual W materializes either into a pair of
leptons, or into a pair of quarks which then hadronizes.

The transition b->u is suppressed by 0.01 relative to b->c transitions. The decays in which the spectator
quark combines with one of the quarks from W* to form one of the final state hadrons are suppressed by a
factor 1/9, because the colors of the two quarks from different sources must match.

The transitions b->s and b->d are flavor-changing neutral-current
processes.

They are not allowed in the SM, they can occur via more
complicated loop diagrams.
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